Mounting instructions:  Sidebar series GM/BM/RM/RC/GC/BC

Ford Transit Custom 2013>
Ford Transit 2014>

SW13 (23Nm)

60 Min.

/ SW17 (46Nm )

Version: 1.03 September 2014




OO NOULT D WDN =

Front bracket

Rear bracket

Mounting plate M10

Stud M10

M10 Washer

M10 Spring washer

M10 Nut

Mounting plate M8 ( sidebar to frame )
Mounting parts siderbar to frame






S \
I_L ] _ Turn several times to see if it is
Fig. 13 B Remove kit if needed I Fig. 14 I firmly mounted in the hole. &

it if




2,
Il Tighten and untighten
the bolt in the plate first ! &

Use for rear and middle bracket.
/ M8 Plate has to go inside the tube.




	Kaft zonder logo
	onderdelen
	montage handleiding blad1
	montage handleiding blad2
	montage handleiding blad3

